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QUESTION 1

Which of the following are tools used in quality control? (Select TWO). 

A. Gantt chart 

B. Ishikawa diagram 

C. Parametric estimating 

D. Probability and impact matrix 

E. Pareto chart 

Correct Answer: BE 

 

QUESTION 2

Which of the following can be used as a quality metric when performing quality planning? 

A. Quality control 

B. Cost benefit analysis 

C. Perform preventative actions 

D. Quality assurance 

Correct Answer: B 

 

QUESTION 3

-- Exhibit 

-- Exhibit -Click on the Exhibit button. Which of the following is the float of the path: start-A-D-end? 
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A. Zero 

B. One 

C. Five 

D. Nineteen 

Correct Answer: A 

 

QUESTION 4

A project has two resources scheduled to work 40 hours a week for four weeks, both at $85.00 an hour. One resource
called in sick for 16 hours, while the other resource worked four hours additional. Which of the following is the cost of
the resources? 

A. $25,840 

B. $26,180 

C. $27,200 

D. $27,540 

Correct Answer: B 

 

QUESTION 5

The customer now needs the project\\'s deliverable 3 months earlier than scheduled. The deliverable\\'s quality has
been reduced so the budget will not be impacted. Which of the following does the project manager need to update? 

A. Issues Log 

B. Communications Plan 

C. Project budget 

D. Schedule 

Correct Answer: D 

PK0-003 VCE Dumps PK0-003 Practice Test PK0-003 Study Guide

Powered by TCPDF (www.tcpdf.org)

PK0-003 VCE Dumps | PK0-003 Practice Test | PK0-003 Study Guide                                3 / 3

https://www.pass4itsure.com/pk0-003.html
https://www.pass4itsure.com/pk0-003.html
https://www.pass4itsure.com/pk0-003.html
http://www.tcpdf.org
https://www.pass4itsure.com/pk0-003.html
https://www.pass4itsure.com/pk0-003.html
https://www.pass4itsure.com/pk0-003.html

